La division par 10, 100 ou 1000

Effectue les divisions suivantes :

2570:10= 257
10654 :10= 10654
7003 : 100 = 70,03
81391:1000= 81,391
124 560 : 10 = 12 456

Effectue les divisions suivantes :

253,4:10= 23,54
917,9 : 100 = 9,179
457,3 : 100 = 4,573
569,1:10= 56,91
820,2 : 100 = 8,202

Effectue les divisions suivantes :

45,6 : 10 = 4,56
72,7:100= 0,727
53,3:100= 0,533
8,3:100= 0,083
66,6 : 1 000 = 0,0666

Correction

490 : 10 = 49
5801:100= 58,01
9153 : 100 = 91,53
572:100 = 5,72

259 :1 000 = 0,259

161,8: 100 = 1,618
332,6 : 10 = 33,26
100,7 : 100 = 1,007
559,5:1000= 0,5595
682,8 : 1 000 = 0,6828

81,9:10= 8,19
10,1 :10= 1,01
3,6:10= 0,36

28,7 : 1000 = 0,0287
1,2:1000= 0,0012



